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e Python==3.12.2
e pandas==2.2.2
e humpy==2.0.0
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df = pd.DataFrame({"coll": [1, 2, -3],
"col2": [0.1, 0.2, -0.31},

index=[ "1dx1" ’ "idx2" ’ "1dx3" ] )

coll col2
idx1 1 0.1
idx2 2 0.2
idx3 -3 -0.3
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= pd.DataFrame([[1l, 0.1],

[2, 0.2],

[-3, 0.31],

columns=[ "coll", "col2"],
index=["idx1", "idx2", "idx3"])

coll col2
idx1 1 01
idx2 2 0.2
idx3 -3 -0.3
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e CSV

o Excel

e SQLZRITLTT —IXR—AN5
e Parquet

e IRERE




FlElCT—FEIHGES

coll col2
idx1 1 0.1
idx2 2 0.2

idx3 S0

df.info()

< 'pandas.core. frame.DataFrame'>
Index: 3 entries, idxl to idx3
Data columns (total 2 columns):

coll 3 non-null int64
1 col2 3 non-null floaté64
dtypes: float64(1l), int64(1l)
memory usage: 72.0+ bytes
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dtype: int64
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type(df["coll"])

pandas.core.series.Series
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df.loc[:, "coll"]

1
2
-3
: coll, dtype: inté64
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df.iloc[:, 0]
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df.loc["idx1l", :]

coll 1.0
col? 0.1
Name: idx1l, dtype: floaté64

df.iloc[0, :]
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df[ 'coll'].values




T — 5 DIRE

coll col2
idx1 1 01
idx2 2 0.2
idx3 -3 -0.3

coll col2

idx1l True True
idx2 True True

idx3 False False
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coll col2
idx1 1 0.1
idx2 2 0.2
idx3 O 0.0
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: coll, dtype: bool

df[df["coll"] > 0]

coll col2
idx1 1 0.1
idx2 2 0.2
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df.to _pickle('my df.pkl')

df = pd.read pickle('my df.pkl')

picklelCIFO~5Fkc/OKO)L (\—=2Y3YV) "HBZDTER ! FITDPCT
picklefb U7c H D %Z Google Colab TiiAiA B S E LicEERBULIED T 5,

df.to pickle( 'my df.pkl', protocol=4)
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Grouped boxplots

50 4 smoker i
O Yes ©
== No

40 - o o ;

R
T

total_bill

Thur Fri Sat Sun
day

seaborn components used: set_theme() , load_dataset() , boxplot() , despine()

import seaborn as sns
sns.set_theme(style="ticks", palette="pastel")

# Load the example tips dataset
tips sns. load_dataset("tips")

# Draw a nested boxplot to show bills by day and time
sns.boxplot(x="day", y="total bill",
hue="smoker", palette=["m", "g"1I,
data=tips)
sns.despine(offset=10, trim=True)



seaborn Grouped boxplots


https://seaborn.pydata.org/examples/grouped_boxplot.html

plotly D4l

import plotly.express as px
df = px.data.iris()

fig = px.scatter(df, x="sepal_width", y="sepal_length", color="species")

fig.show()
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https://plotly.com/python/plotly-express/
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plotly.express px

df = px.data.iris()
df.head()

sepal_length sepal_width petal_length petal_width species species_id

o) 5.1 3.5 1.4 0.2 setosa 1
1 4.9 3 1.4 0.2 setosa 1
2 4.7 3.2 1.3 0.2 setosa 1
3 4.6 3.1 1.5 0.2 setosa 1
4 5 3.6 14 0.2 setosa 1
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df .describe(include="all")

sepal_length sepal_width petal_length petal_width

species species_id

count 150 150 150 150 150 150
unique nan nan nan nan 3 nan
top nan nan nan nan setosa nan
freq nan nan nan nan 50 nan
mean 5.84333 3.054 3.75867 1.19867 nan 2
std 0.828066 0.4335%94 1.76442 0.763161 nan 0.819232
min 4.3 2 1 0.1 nan 1
25% 5.1 2.8 1.6 0.3 nan 1
50% 5.8 3 4.35 1.3 nan 2
75% 6.4 G 5.1 1.8 nan 3
max 7.9 4.4 6.9 2.5 nan 3
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df .value counts( 'species')

species

setosa 50
versicolor 50
virginica 50

Name: count, dtype: int64
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df .groupby( 'species').mean()

species sepal_length sepal_width petal_length petal_width species._id

setosa 5.006 3.418 1.464 0.244 1
versicolor 5.936 2.77 426 1.326 2
virginica 6.588 2.974 5.552 2.026 3
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df .groupby( 'species').get group('setosa').head()

sepal_length sepal_width petal_length petal_width species species_id

o) 5.1 3.5 1.4 0.2 setosa 1
1 4.9 3 1.4 0.2 setosa 1
2 4.7 3.2 1.3 0.2 setosa 1
3 4.6 3.1 1.5 0.2 setosa 1
4 5 3.6 1.4 0.2 setosa 1



df.index:
result.append(0.1 * df.loc[i, 'sepal length'] + 0.2 * df.loc[1i
df[ 'result'] = result
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df[ 'result'] = df.apply( x: 0.1*x[ "'sepal length']

+ 0.2*x[ 'pet
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Copy-on-Write
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https://pandas.pydata.org/docs/user_guide/copy_on_write.html
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coll col2

idx1 1 01
idx2 2 0.2

idx3 -3 -0.3
df.loc[['idx1l','idx2'], 'coll']
df.loc[[ 'idx1l', 'idx2']1]['coll']
df['coll'][['idx1l"', 'idx2']]

coll
idx1 1

idx2 2
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df.loc[['idx1l',6 'idx2'], 'coll']l = 100

coll col2
idxl1 100 0.1
idx2 100 0.2
idx3 -3 -0.3
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df.loc[[ 'idx1l', 'idx2']]['coll'] = 100

coll col2
idx1 1 0.1
idx2 2 0.2
idx3 -3 -0.3
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df[ 'coll')[['idx1l', 'idx2']] 100

FutureWarning: ChainedAssignmentError: behaviour will change p
You are setting values through chained assignment. Currently this

KEXLEHL. ..

coll col2
idxl1 100 0.1
idx2 100 0.2
idx3 -3 -0.3
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pd.options.mode.copy on write =
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